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architecture SIMof proc is

constant STEP: tine := 100 ns;
begi n
Ul: DUT port map(CLK, DIN, DOUT);

goooooooo
process begin
CLK = '0"; wait for STEP/2;
CLK = '1"; wait for STEP/2;
end process;

ooooooooooog
process begin
DIN <= '0";

wait for 10 ns;
wait for STEP/2; DIN <= "'
wait for STEP; DIN <= "
wait for STEP*2; DIN <= '
wai t for STEP; DIN <= "'
wait;

end process;
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end SIM
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architecture SIMof proc is

constant DATA_REG  std_l ogic_vector(1 downto 0):= "00%
si gnal A: std_l ogic_vector(1l downto 0);

signal DIN: std_|logic_vector(7 downto 0);

signal WEB: std_|ogic;

begi n
dut0: DUT port map(A, DIN, VEB);

process begin
for i in 0 to 15 | oop
wait for 25 ns; A <= DATA REG
wait for 25 ns; DIN <= DATAO;
wai t for 25 ns; WEB <= '0}
wait for 200 ns; WEB <= 'l1%
wait for 25 ns;
end | oop; 1000000000000
wai t ;
end process;

end SIM
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